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2 THEBDT—F—DTER (b pp.94-95)
BB f(x,y) \XBHGEIR D 1B\ C O #4C, (a,b) €D ET 5.
(1) (F—5—OFE) (a,b) & (a+hb+k) ZESEIV D ICEGENS L&,
n—1
o 9 1,8  9\»
Flathbtk) = ZO (h% ka—> F(a,b) + ;(ha—Jrka—) Fla+0h,b+ 0k)

Jj=

%% 0€(0,1) BEET 5.
(2) (EmHERER)

flat+hb+k)=>" 1(haax-l-kaa)jf(a,b)—i-o((hQ-{—k:Q)"/z) ((h,k) — (0,0)).
Jj= 0
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LEREND.
(GHEHI)
1 (thrki) fla,b) ZEET 2 L,
"o oy
0 3 00 O , L
(h%%— < 5a7 kg 3 8x82+ka3>f(a,b)
_,30°f 2, 0°f 2 O°f 3 f
= 1055 (00) + 3%k o (a,0) + 3P o (0, 0) + K 5 (0 D)

= fraw(a,0)R® + 3 fray(a, D)R%k + 3 fruy (@, b)hk? + foyy(a, b)k>.

2. f(zyy) =2 Y DIXRETOY7u—Y VIEH (FEATOT— 7 —EH) 2HHEEFOETRD 5.
f(0,0) =0, f2(0,0)=1, f,(0,0)=0, fux(0,0)=2, fry(0,0)=—1, fy,(0,0) =0,
J22e(0,0) =3, faay(0,0) = =2, fayy(0,0) =1, fyy,(0,0) =0

THDHN6, Lo (2) ZHIUL ((a,b) = (0,0) £ LTEHEL, (b, k) % (z,y) CEEMHZZ),

1 1
2"V =+ a? —ay+ oo 2Py + sy’ +ol(a? + )Y ((,y) = (0,0).

G eX =1+ X 4+ 21X% 4+ 0o(X?) (X = 0) 2T,
ze” =z{l+ (x —y) + 5(z —y)* + o(a® + y*)}
=z+a’ —ay+ 32° — 2y + Juy’ + o((@® +v)*?)  ((z,y) = (0,0)).



2 BB DBERIRE (#isktlt pp.95-96)

R (a,b) DIEFHFTERINTBEE 2 = f(x,y) D35 (a,b) TEBXIE f(a,b) ZE 5 L1E, 2ORIIBITS |
DAl f(a,b) B3, (a,b) D (T3NS %) EHEDEZED R (2,y) (z,y) # (a,0) IZBTF2HLI D REVI L2
W)L ThbE, K (a,b) ZRLETEERe>0DMHZE D L L, e /NS LB L

fla,b) > f(z,y) ((2,9) € De, (2,y) # (a,b))
DD IZDZ L&) (FRAMEIC DT H ). HORAE & ) MiE z2 #Fs L CHRfE & -5

(i) 1BlE%Z & B cHDBERY (Hfitiz & 2 o)
IS f 28 CL T (a,b) CHfE% & 272 518, fo(a,b) = fy(a,b) =0 TH 2.
(2L (a,b, f(a,b)) BT BHT 2 = f(z,y) OBV oy VISV TH 2 2 L2 TRT 5.)
(i) HEfEDH5!
BI%L f 13 C2 T, fi(a,b) = fy(a,b) =0 TH2 LT 5. HHINZE
D(a,b) = fua(a,b) fyy(a,b) = fuy(a,b)?
TERT 5.
e D(a,b) >0 22 fop(a,b) >0 % 51E, f1E8 (a,b) TH/MEE & 5.
e D(a,b) >0 5D frp(a,b) <0 %51, fIEM (a,b) THKMEZ & 5.
o D(a,b) <0 %5IE, f 125 (a,b) CHifi% £ 5 7%\,

(Et&EH)
1. B3 f(z,y) = —22% — 2y — 9% + 22 — 3y Dz KD k.
[BE] [ o2 XU TOREREL
fo=—4x—y+2, fy=-2-2y—3=0, foo=—4, foy=-1, f,=—2.

(i) fo=f, =0 DR (x,y) = (1,-2).

(i) K (1,2) IZBWT f % & 208 ) pa#lNs.

D(1,2) = (-4)(=2) = (-1)?=7>0, fu(1,-2)=-4<0
THDHD 6, fIFR (1, -2) THAME f(1,-2) =4 % & 3.

2. BB f(z,y) =2t + 9t — (x +y)? DHifEZRD k.
[BZE] f o2 RXUTOREREIX
fo=42" =2(x+y), f,=4y"—-2(x+y),
fwa: = ]-2:62 -2, fzy = -2, fyy = 12y2 - 2.

Q) fo=f,=0%M. fo—f,=0&D 4@®-y3) =0, t>T o=y ZOFFEIHEELT
(z,y) = (0,0), (1,1), (=1,-1) 3.
(i) SNEDKHT f DMfEZ & 20289 a5,
e 1 (0,0) 1IZBWT, D(0,0) = (=2)(—2) — (=2)? = 0 (LOYHIEIEHZ 22 \). f(z,0) =
22(z2 — 1) < 0= f(0,0) (0 < |z| < 1), f(z,—2) =22* > 0= f(0,0) (x #0) TH2»
5, (0,0) TIHRMHEZ & 5%\,
o M (£1,4+1) I2BWVT, D(£1,+1) = 10-10 — (=2)2 = 96 > 0, fu,(+1,£1) = 10 > 0.
Yo C, f UM (21, +) CTHUME f(£1,+) = -2 % & % (BEREIE).
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1 | RO f(z,y) I22WT, 3RDEEZTHOv7u—Y VER (HACB) 27 —7—EM) 2
flz,y) = (z,y D3XK) +--- DIFPTKD L.

(1) f(z,y) =e“sinby (a,b# 0 1FELK) @)ﬂ%wzl_i_y
(3) flay) = (1+y)" (= e os0+v) (4) flay) =™ (a>0,a#1)
(5) flay)= 2 Y (6) flz.y) = VIT e

COs T

2 | ROBIHK f(2,y) 25 (0,0) IcBVTREEE & %20 5 b AR &

(1) f(z,y) = cosz +cosy + 2ay 2) flz,y) =2 +y*
(3) flz,y) =a* +y* — 227 + 4wy — 29° (4) f(z,y) =2 — 2zy* + 2

3 | ROBEK f(2,y) KWL T folz,y) = fu(z,y) =0 £% 3 (z,y) ZTXNTRD L. 512, f(z,y) D

itz SR b X

1) flry)=2"—ay+y’ o -4y (2) flz,y) =a*—22° +2° 4+
(3) f(z,y) =sinz+siny —sin(z+y) 0<z,y<m)

(4) f(z,y) =sinzsiny (0 <z,y <m)

(5) flz,y) =yTan""'z (6) flz,y) =12° -2y +y?
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o
2 —zsiny
(3) f(z,y) = 22® — 32* + 6xy® — 9y 4) flz,y) = (z+y)e™?

(1) f(z,y) =v1+2z2log(l —y) (2) f(z,y) =



